EARAROBEEIERT — 2 N— IBISH —F
=250 v5%3me 777 E

[AE<%] 1 7% :2,500,000  ~ 2 7&:750,000 F 3 & :500,000 4

2012%2H6H (B) 11E#MEIR

‘ [Ri&] & ‘ [REBE] — | & (%) 1600M THE

4 7% 1300,000 F 5 3& : 200,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Fo—o # 3 EJ%EA 1:42.7 2-2-0-2 | 40.7| — 3 | 488 Efﬁg%ﬁ_ ()
RTUHA RIS K B RU—L—2 ' ) G S5 —n
= ERAH 1:43.2 3-4-6-5 |40.4| — 7 484 | MUE (A0tE)
AHhA4A>T R 3 56.0 N
: 21/2 _ NBRA
L:TAVHLRZ B:¥3€71-X ( ) 6) (1T} -
4TG5y 3 gks’/%%ﬂ 1:43.4 1-1-1-1 [ 415 — 5 456 igalﬁ%”g (k)
. 1 _ = R
L:TANVRTy Y2 BixO—=7)b—Y w -9 #i’a‘;7—A
s S 4 3 | ARk 1:44.9 4-3-3-3 | 42.4| — 1 481 | EEEEEZ (fafE)
4l1]1|EvZZ1 L 57.0 7 1T
LINYTL A=Y B TITHHA A o @) | %m i
i 4 3 | WHARFKX 1:45.0 7-7-7-7 | 41.9| — 4 449 | WIER (A0tE)
5|55 LT L 55.0 nE IN]::psPS
R:iTINTSE BiIUAH—N e @0 | 25357 —n
S $ 4 3 | EHEE 1:45.5 5-5-3-4 |43.0| — 6 462 | EEE (fAE)
6 2| Vav/B2F%Y—FR 56.0 5 i mpa
R:TIvva%y—F B:3yR7O% ( ) (+6) ﬁ%i*ﬁt
Py 4 3 | AEEX 1:46.8 6-6-3-6 |44.3| — 2 467 | BHES (11E)
7 4|7y RRAZ— 56.0 6 AR
Q:O—I IUL BiALALE © QU it gy
® I —F—EBIERL
13—7+— 3,6,7,1,2,4,5
A== 3,6,1,7,2,4,5
Jol=5r= 3,6,(1,2,4),7,5
43—F— 3,6,1,2,7,4,5
[ N3
B OB 6 620M 714K 6-7 1,460H B = 6-7 3,430H 3EHE 3-6-7 11,010
8 B 6 420M 3-6 1,010M B H 6-7 8,240M K31 6-7-3 66,380
7 810M 3-7 1,700

ABICOVWTRDTEEERROODE. TR LIV,




